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Paper: VI

Full Marks: 80 (Theory)
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Candiates are required to give their answer in their own
words as far as practicable.

Questions are of equal value.

Answer one question [within 250 words] from the following:

1. What were the socio-economic causes of the French Revolution of 1789 ?

2. How would you explain the causes of Napoleon’s downfall ?

3. Review the major features of the Vienna Settlement of 1815.

4. Discuss the causes and results of the July Revolution in France ?

5. How did Mazzini, Cavour and Garibaldi unite Italy ?

6. How did Bismarck unify Germany ?

7. Discuss the internal reforms of Tsar Alexander-II.

8. Why did the Industrial Revolution occur first in English ?
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9. Why did the Bolsheviks succeed in 1917 ?

10. What were the causes of the First World War ?

11. Explain the rise of Fascism in Italy.

12. How far was the Treaty of Versailles responsible for the outbreak of the Second World
War ?
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